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9.4 — 9.6 Practice Worksheet
9.4 Tangent
1. Describe and correct the error in writing the statement of the tangent ratio for the given figure.
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2 — 4: Find the value of x. Round your answer to the nearest 1 thousandth
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5: You are measuring the height of a water slide. You stand 58 meters from the base of the slide. You
measure the angle of elevation from the ground to the top of the water sllde to be 13°. Find the height

h of the slide to the nearest meter.
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1 - 2: Find sin J and cos K. Write each answer as a fraction I.\'IL_Das a decimal rounded to the

thousandths.
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3 —5: Find the value of each variable using sine and cosine. Round your answer to the thousandths.
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I 6. Which statement cannot be true? Explam : eggur answer. 8
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7. The angle of depressmn T4 12 from the
bottom of a boat to a deep sea diver at a
depth of 120 feet. Find the distance x the
diver must swim up to the boat to the
nearest foot.
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9.6 Sine, Cosine & Tangent Trigonometric Ratios

1-3: Determine which of the two acute angles has the given trigonometric ratio
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3. Thetangent of the angle is 3 4 Q " %)
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4 —6: Let angle B be an acute angle. Use a calculator to approximate the measure of angle B to the
nearest degree.

4. sinB = 0.64 5. cosB = 0.12 6. tanB = 2.18
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7 —9: Solve the right triangle by filling in all missing sides and angles. Round angle measures to the
nearest degree and side lengths to the thousandths
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